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1.Which Dell EMC product provides storage management and visibility to multi-vendor storage arrays in
virtualized and cloud environments?

A. VMware SRM

B. ViPR Controller

C. ViPR SRM

D. VMware Storage vMotion

Answer: C

Explanation:

Reference: https://www.emc.com/techpubs/vipr/intro_to_vipr_srm-1.htm

2.What actions together let organizations shift from “keeping the lights on” to revenue-generating
activities?

A. Transforming and Automating

B. Strategizing and Modernizing

C. Modernizing and Automating

D. Transforming and Strategizing

Answer: A

Explanation:

Reference: https://www.emc.com/collateral/brochure/dellemc-forbes-it-transformation-on-cio-cfo-
collaboration.pdf

3.Which product provides storage for a VxBlock?

A. Dell EMC VMAX

B. Cisco UCS

C. Cisco Nexus

D. VMware vSphere

Answer: A

Explanation:

Reference: https://shop.dellemc.com/en-us/VVxBlock-and-Vblock-Products/Dell-EMC-VxBlock-System-
1000/p/Dell-EMC-VxBlock-System-1000

4.An organization wants to jumpstart their path to Digital Transformation through IT Transformation.
What are the three activities included in IT Transformation?

A. Modernize, Capitalize, and Organize

B. Automate, Virtualize, and Transform

C. Transform, Automate, and Modernize

D. Digitize, Automate, and Transform

Answer: C

Explanation:

Reference: https://www.cio.com/article/3182716/analytics/why-transformation-matters-now-more-than-
ever.html

5.What is the most common obstacle businesses encounter as they pursue Digital Transformation?
A. Lack of budget and resources
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B. Data privacy and security concerns
C. Lack of executive support

D. Inadequate expertise and skills
Answer: B
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